accessori per cilindri

accessories for cylinders

FORCELLE
forks
I
™
L
LT ‘ |
| | i
© i A © o]
D | "
| g \
n e b
i
N
©
Y
L
sigla per alesaggi fornita con
part number for bores d a b t d, & L L n it is supplied with
FR8C10 8-10 M4x0.7 4 8 04 08 6 21 16 8 clip
FR12C16 12-16 M6x1 6 12 06 010 9 31 24 12 clip
FRC20 20 M8x1.25 8 16 08 014 12 42 32 16 clip
FR25C32 25-32 M10x1.25| 10 20 010 | 018 15 52 40 20 clip
FRC40 40 M12x1.25| 12 24 012 | 020 18 62 48 24 clip
FR50C63 50-63 M16x1.5 | 16 32 016 | 026 24 83 64 32 clip
FR80C100 80-100 M20x1.5 | 20 40 020 | 034 30 105 80 40 clip
FRC125 125 M27x2 30 b5 030 | 048 38 148 | 110 b4 perno [pin/
FR160C200 160-200 M36x2 35 70 035 | 060 40 188 | 144 72 perno /pin/
FRC250 250 M42x2 40 85 040 | 070 | 63.5 | 232 | 168 84 perno [pin/

559



